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Qucstion No.1is compulsory.
Attempt any four questions out of Q. Nos. 2 to 7.
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As a tax grows larger its deadweight loss grows larger 10o. Is this a positive or a
normative statement? Explain.

When Neha and Malini go shopping, Neha always buys apples for Rs. 500, while
Malini always buys 4kg apples. What is the price elasticity of demand of Neha and
Malini and Why?

Ashok derives equal marginal utility from consuming ice-cream and epples. Is he
necessarily maximizing his utility if he consumes only these two goods.

At the current level of output a firm's average variable cost, AVC = 100, average fixed
cost, AFC=20 and marginal cost MC=110. Is the firm operating at its efficient scale?
Explain why or why not.

A perfectly price discriminating monopolist is maximizing his profits. Show consumer
surpius and producer surplus in this market.

Why is the demand for factors such as labor a derived demand? Explain.
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Explain how a production possibility frontier highlights the ideas of scarcity, trade-offs

and efficiency. (6
It was observed that when the price of apples rose more apples were traded. Explain
using rti:wlntdinplﬂliwbeﬂienhismu!dbethceffeﬂofshiﬁuﬁh:demmdcum.m

supply curve or both. (5)
Explain using examples why demand for some products is likely to be more elastic in the
long-run than in the short run. (@)
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Given the following demand and supply curves

Q4= 500 - 5P (Where Q is the quantity demanded and P is the price)

Q.=5P-100 (Where Q, is the quantity supplied)

A tax of Rs 10 per unit bought is imposed on buyers. Find the change in the (a) price paid
by the buyer (b) price reccived by the seller and (c) quantity traded (6)

Explain how the invisible hand of the marketplace leads buyers and sellers 1o allocate
resources efficiently. (4)
Suppose that the government imposes a binding price floor in the wheat market. What

would be the effect of this policy on the quantity of wheat bought and sold? Would the
total revenue of the farmers increase or decrease? Explain. (5)
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“Income elasticity of demand for a product is — 1. I the price of the product falls, the
consumer will always buy less of this product.” Do you agree with the statement? Why or
why not? Explain. (5)
Arjun spends his entire pocket money of Rs 1200 on purchase of two goods, chocolate
and Pepsi. His optimal consumption is 10 units of each, when the price of a chocolate is
Rs 40 and the price of Pepsi is Rs 80 per bottie. Draw his budget constraint and using
indi fference curve, show his optimal consumption bundle. Draw his new budget
constraint if the price of a chocolate increases to Rs 80 and that of a Pepsi bottle
decreases 1o Rs 40. Can he still afford the same bundle? 1f so, would he buy the same
bundle at equilibrium? Explain. (6)
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scale over a range of output and also draw his marginal cost curve. (4)

ve e @ win @ s @ W -l ;.ﬂaqammsmmmm
s w whtm - wm are wena &7 @) w ) A7 e $if )

i S 1200 PO @ W G @d dhete o Al @ aRpt W wd e @) T g
:wj;vmmﬂmmttmIMQMNNMMﬂmmmmm

£ owet T W TEY w1 SRS Um W TREE Y §U GYe IWET &1 3w T
74 e v wEd ot diede @ @n wev e0 o9 @ SR @ T SR A Frm w @ e
10 ¥70 ufY dew B T 1w A anh o ugd O deE W gE W wew @) ok #f @ wn
v A w T ol vea Wi

o frafiom e smfafterd e ger e s @ T A Tl B wnf
a2 g dndwre st AT T weE e SaRE SRTE @ AP W W R @ R
vitresw wrm & e waftm W s R FET

Explain how the shape of marginal cost curve of a product is related to the shape of the
marginal product curve of labour, if the labour is the only variable factor of production.
4)
It was observed that when the interest rate declined from 10% to 7%, Ela started saving
more. Justify her response to the change in the interest rate using indifference curve
analysis. (6)
Each of 100 firms in a perfectly competitive industry has an average variable cost (AVC)
function AVC = 2Q where Q represents output produced. If the price of the product is
Rs.100 find the total quantity supplied in the market when (a) total fixed cost is Rs.
10.000 and (b) total fixed cost is Rs. 20,000. (5)
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Using marginal revenue and marginal cost curves under monopoly show the output levels
that maximize (a) total revenue and (b) total profit respectively. Are these two output
levels equal? Explain why or why not. . (©)
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Explain how
B m;:s?nd 10 inefficiency of monopoly by regulatirp 1

s - Llscuss any problems that may arise in thiz context. (61
Explain why-mnnopnlyﬂm: nulh.tvenmpp‘y curve g (1)
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